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Choose the correct meaning of underlined idiom/phrase:

“He threw cold water over the project that the secretary had prepared” b
a) Rejected b) Discouraged | ¢) Approved d) ' Discouraged
Appreciated

‘Brains’ means: d
a) Execrable ‘ b) Base ‘ ¢) Abominable ‘ d) Sagacity Sagacity
Match the following in terms of proximity:

A Incandescent i Abominable

B Insight ii Taunt a

C Execrable 111 Acumen

D Affront iv Brilliant
a) A-iv, B-iii, C-i, | b)A-ii, B-iii, C- | ¢)A-i, B-iv, C- | d)A-iv, B-i, | A-iv, B-iii, C-
D-ii iv, D-i i1, D-iii C-iii, D-ii i, D-ii
Fill in the blank:
“According to a study, most of the dictators betray a streak c
while displaying the requisite to prolong their rule and also by
eliminating to throw them from power.
a) Brilliant, | b)Incandescent | c) Base, Nous, | d)  Affront,

. . . . . Base, Nous,
Acumen, Bait ,  Rationality, | Bruit Sagacity, .
Bruit
Taunt Rumor

Which of the following is not correct in its true sense?
A The trees were ablaze with the colours of autumn.
B Her melodious voice along with incandescent musical performance
captivated each and everybody last night. b
C The luminous paint has removed the darkness of the hall.
DThe nitid sky in the evening does not make the land scape more
captivating
a) B only b) D only c) BothA & C | d)Both B&D D only
In which year Sahitya Akademi award were established? (b)
a)1953 | b)1954 | ©)1955 | d)1956 1954
Match the following Articles of Indian Constitutions with their
description.

A Article-14 1 Right to life and personal liberty

B Article-19 iiRight to Equality (©)

C Article -21 iiiFreedom of Speech

D Article-32 iv  Remedies for enforcement of

fundamental rights

a) A-iii,B-iv, C-i, | b) A-iv, B-i, C- | ¢)A-ii,B-iii, C- | d) A-iv,B-ii, | A-ii, B-iii, C-
D-ii i1, D-iii i, D-iv C-i, D-ii i, D--iv
S.I unit of Luminous Intensity is: (a)




a)Candela b)Calendensten | c)Ampere d)Second

ine Candela
9 | Arrange the Atmospheric layers in ascending order from earth surface.
A. Thermosphere
B. Troposphere, (b)
C. Mesosphere
D. Stratosphere,
a)A,B,C,D b)B,D,C, A ¢c)C,A.B,D d) D, A, B, C | Troposphere,
Stratosphere,
Mesosphere
Thermosphere
10 | The highest mountain range (point) in Arunachal Pradesh is: (©)
a) Shalundi ‘ b) Chumo ‘ c) Kangto ‘ a) Komdi Kangto
11 | The Chairman of the sixteenth Finance Commission is )
a) Ritvik R.|b) Rabindra | ¢) Arvind | d) N K Singh ¢) Arvind
Pandey Tyagi Panagariya Panagariya
12 | “Local for Vocal” is a programme introduced to boost local economies
s NN a)
and promote grassroot entrepreneurship. It is initiated by
a)NITI Ayoga b) The Ministry C) Th; Ministry d)‘ ‘ The
of Science and | Ministry  of
of Labour and NITI Ayoga
Employment Technology Heavy .
Industries
13
Who was the recipients of Bharat Ratna Award -2024 ?
a) M S Swaminathan
b) P V Narasimha Rao d)
¢) Bhupen Hazarika
d) Karpori Thakur
a) All are correct b) A & B only c)A,B & C|dA,BandD | d)A,Band D
only only only
14 | The United Nations Human Development Index(HDI) for the year are:
A India 1134
B Nepal 11 78 b)
C Pakistan iii 164
D Srilanka v 146
a)A-i, B-ii, C-iii, | b) A-i, B-iv, C- | ¢) A-iii, B-ii, | d) A-iii, B-i, | b)A-i, B-iv,
D-iv ii1, D-ii C-i, D-iv C-ii, D-iv C-iii, D-11
15 | The ICC Men’s ODI Cricketer of the Year-2023 is C)
a) Usman Khawja | b) . Pat | ¢) Virat Kohli | d) Babar ¢) Virat Kohli
Cummins Azam
16 | Which one of the following statements is false? (b)
a)Values of sin 6 | b)Values of tan | c)Values of tan | d)Values of
lies between 0 |90"is 0 0"is 0 cos 0 lies
Values of tan
and 1 (Both between 0 90" is 0
Inclusive) and 1 (Both
Inclusive)
17 | Match the formulae related with Circle. (c)
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A. Volume L r?
B. Perimeter i. T r°h
C. Area . 2mnr
D. Area of |[iv.tr?/2
Semicircle
a) A-i,B-iv, C-iv, | b) A-iv, B-i, C- | ¢)A-ii,B-iii, C- | d) A-iv,B-ii, | A-ii, B-iii, C-
D-ii i1, D-iii i, D-iv C-i, D-ii i, D--iv
18 | If 5 women and 8 girls can do a work in 84 days, in how many days
10 women and 5 girls can do the same work? @)
a)32 days ‘ b)36 days ‘ ¢)38 days ‘ d)40 days 32 days
19 | If 30% of a number is 12.6, find the number: (b)
a) 45 | b) 42 [ ¢c) 38 | d) 40 42
20 | If in certain code language, 851 means good sweet food; 783 means
good red rose and 341 means rose and food. Which of the digits stands (b)
for sweet in that language?
a) 8 [ b)5 IBE [ a)3 b) 5
21 | Match the Units of the following.
A. Idealism i. John Dewey
B. Naturalism i1 Jean —Paul Sartre ()
C. Pragmatism iii Plato
D. Existentialism iv J.J Rousseau
a) A-iii, B-iv, C-i, | b) A-iv, B-i, ¢) A-ii, B-iii, | d) A-iv, B-ii, | A-iii, B-iv,
D-ii C-ii, D-iii C-i, D-iv C-i, D-ii C-i, D-ii
22 | The branch of Philosophy emphasizes on restructuring of experiences
1s (c)
a) Naturalism b) Idealism c) Pragmatism | d) None of .
Pragmatism
the above
23 | The concept of ‘Negative Education’ was given by: (a)
a) J.J Rousseau b) John Dewey | ¢) M.K Gandhi | d) R.N. 7.7 Rousseau
Tagore
24 | Which institution in India provides registration for counsellors with )
appropriate qualifications?
a Indian | b Indian | ¢ Indian | d e
C)ounselling C)ouncil for P)sychiatric R)ehabilitatio Rehabllljtatlon
Association Psychological | Association n Council of Coungll of
; . India
Counselling India
25 | Participating in a ‘MOOCS’ course is the best example of : (b)
a) Formal | b) Non-formal | c) Informal | d) All of the Non-formal
Education Education Education above
26 | Directions: For the Assertion (A) and Reason (R) below, choose the
correct alternative.
Assertion (A) “Philosophy and Education are two sides of the same
coin” (©)

Reason (R) Because, Philosophy provides the basis for the entire
structure of Education.

A. Both Assertion (A) and Reason (R) are true and Reason (R) is not
the correct explanation of Assertion (A).
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B. Assertion (A) is false but Reason (R) is true.
C. Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).
D. Assertion (A) is true but Reason (R) is false.

a)A&B b) C c)C&D d) B Both
Assertion (A)
and  Reason
(R) are true
and  Reason
(R) is the
correct
explanation of
Assertion (A).

27 Match column ‘A’ Match column ‘B’
A. Mind 1. Existentialism
B. Matter ii Idealism (c)
C. Man i1 Naturalism
D. Utility iv Pragmatism
a) A-iii, B-iv, C-i, | b) A-iv, B-i, C- | ¢)A-ii, B-iii, C- | d) A-iv, B-iii, | A-ii, B-iii, C-
D-ii i1, D-iii i, D-iv C-i, D-ii i, D--iv
28 | Metaphysics deals with the nature of : (c)

a) Values | b) Universe c) Realit d) :

g Knowledge Reality
29 | What is social structure? b
a) A physical | b) Aframework | ¢) Economic | d) A political | A framework
framework of | of relationships | system of a | ideology of
buildings and institutions | society relationships
in society and
institutions in
society
30 | Education is considered as a sub-system of social system

because : ¢

a) It provides [b) It has a|c) It has well | d) None It has well

essential services | complex defined defined

that society has to | structure objectives and objectives and
provide to the functions  to functions to
people promote promote
adaptations adaptations
31 | Which of the following statements are true?

A. Culture is a continuous process

B. Culture is accumulative

C. Cultural change is inevitable ¢

D. All of these

a)Aand B b) Band C c)D d)Aand C All of these

32 | Function of educational structure is : b

a) Replacement | b) Socialization | ¢) maintenance | d) System | Socialization

of population of new | of a sense of | maintenance of new

population purpose population
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33 | Match Column A with Column B
A. Ancient Vedic Education 1. Equality was the foundation
of student teacher relationship
B. Post Vedic Education ii. Enrichment of knowledge d
and experiment
C. Brahmanic Education iii. Knowledge results in
wiping out falsehood
D. Buddhist System of | iv. Emphasis on character
Education building and self realization
a) A-i, B-iv, C-iii, | b) A-iv, B-i, C- | ¢) A-iii, B-ii, | d) A-ii, B-iii, | A-ii, B-iii, C-
D-ii ii, D-iii C-i, D-iv C-iv, D-i iv, D-i
34 | Which of the following is not an example of sub-culture ? d
a) An ethnic | b) A social |c) A regional | d) A national
group culture class group | group culture | culture A national
culture culture
35 | Which of the following statements are correct?
A. The minority status to particular community is dependent only
upon religion.
B. All minorities can set up their own educational institutions. b
C. Minorities have the right to preserve their culture, language and
script.
D. All the above
a)Aand B b) Band C c)Aand C d) None of | B.All
these minorities can
set up their
own
educational
institutions.
C. Minorities
have the right
to  preserve
their culture,
language and
script.
36 | Social change can manifest in which of the following forms? d
a) Reversible | b) Irreversible | ¢) Static | d) Both
change change change reversible B.O th
and reyer&blg and
. . irreversible
irreversible
change
change
37 | The central concept of ‘Gestalt theory of learning’ is : (c)
a) Learning is the | b) c) Learning is | d)
result of Lea | an active Lear | Learningis an
stimulus- rning proc | ning occurs | active process
response involves ess where where
associations the | individuals thro individuals
gradual organize ugh organize their
accumulation their | reinforcemen | perceptions
perceptions t and | into coherent
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of |into coherent | punishment wholes
knowledge wholes
through  trial
and error
38 | According to constructivism, learning is: (©)
a) Objective and | b) passive | ¢) Subjective | d) Dependent
universal process and influenced | on Subjective
controlled by | by individual | memorizatio | and influenced
external factors | experiences nof
information | by individual
experiences
39 | In Vygotsky's theory, what is the term for the range between what a | (b)
child cando alone and what a child can do with help?
a) Assimilation b)Zone of | ¢) Cognitive | d)
proximal dissonance Accommodat Zone of
development ion proximal
development
40 | The statement true about eclectic approach is: (a)
a)lt combines | b)It c) It is rigid | d) It
methods and exclusivel | and does not | disregards It combines
ideasfrom yuses adapt to the | evidence- methods and
various techniques needs of | based ideas from
theoretical from cognitive | individual practices in various
approaches psychology clients favor of theoretical
basedon intuitive approaches
the methods based on the
client's client's needs
needs
41 | Negative 'reinforcement' refers to: (b)
In the following two sets, set I mention the stages of cognitive
development as given by Piaget and set II specified the distinctive age
of child’s life:
Set I Set 11
(stages of cognitive development) (distinctive cognitive feature)
a) Sensory motor stage 1) 2-7 years
b) Pre-operational stage ii) first 2 years of child’s life
C) Concrete operational stage i11) 12 and above
d) Formal operational stage iv) 7-11 years
A a)-iv, b)-iii, ¢)- | B a)-iii, b)-i, ¢)- | C a)-ii, b)-i,¢)- | d a)-i, b)-iii,
i, d)-ii iv, d)-i iv, d)-iii ¢)-ii, d)-iv a)-ii, b)-i, c)-
iv, d)-iii
42 | In most cases of classical conditioning the: (a)
a) CS occurs just | b) CS occurs | c)CR  occurs | d) CS and
before the UCS | justafter UCS | before CS UCS occurs | CS occurs just
randomly before the
UCS
43 | Thesuitable verb for articulating a constructivist (d)
lesson plan is:
a) Locate \ b) Recite \ c) List \ d) Analyze Analyze
44 | Gardner’s Multiple Intelligence theory is not associated with : Cc
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a) Linguistic | b)Musical ¢)Fluid d)Interperson Fluid
intelligence intelligence intelligence al intelligence
intelligence
45 | LQ. stands for: a
a) Intelligence | b)Intelligent c)Internal d)Inherited Intelligence
Quotient Quality Quotient Quotient Quotient
46 | The factors contribute to intelligence, according to Spearman's Two- a
factor Theory is:
a) General and | b) Verbal and | ¢)Cognitive d)  Genetic | General and
specific factors non-verbal and emotional | and specific
factors factors environmenta | factors
| factors
47 | The primary focus of Allport’s Trait Theory of Personality is: c
a) The | b)Observable c) Consistent | d) Social and | Consistent
unconscious behaviors patterns of | cultural patterns of
mind behavior and | influences behavior and
traits traits
48 | Match the learning theory with the theorist: c
A.Spearman i) Multiple Intelligence
B.Thurstone ii) Trait Theory
C.Gardner iii) Two-factor Theory
D.Allport iv) Multifactor Theory
a)A-ii b)A-i C)A-iii d)A-iv A-iii
B-i B-iv B-iv B-ii B-iv
C-iv C-ii C-i C-i C-i
D-iii D-iii D-ii D-iii D-ii
49 a
Match the type of intelligence test with its example:
A.Verbal Test i) Completing puzzles
i) Answering questions based
B.Non-verbal Test on text
iii) Solving mathematical
C.Performance Test problems
iv) General measurement of
D.IQ Test cognitive abilities
a) A-ii b) A-i C)A-iii d) A-iv A-ii
B-i B-iv B-ii B-ii B-i
C-iii C-ii C- C-1 C-iil
D-iv D-iii D-iv D-iii D-iv
50 | Cattell’s Factor Theory identifies a large number of surface traits. a

Justification (B): Surface traits are observable behaviors that arise
from more fundamental source traits.

a) A is true, B is
true and B is the

b) Ais true, B is
true but B is not
the correct

false

c)Aistrue, Bis

d) A is false,
B is true

As true, B is
true and B is
the correct




correct explanation of explanation of
explanation of A | A A
51 | Assertion (A): Maslow’s hierarchy of needs is primarily focused on d
psychological needs.
Justification (B): The hierarchy includes physiological, safety,
love/belonging, esteem, and self-actualization needs.
a) A is true, B is | b)Aistrue, Bis | c)Aistrue,Bis | d) A is false, | Ais false, B is
true and B is the | true but B is not | false B is true true
correct the correct
explanation of A | explanation of
A
52 | ‘Inclusive education’refers to: c
a)Education that | b)Education c)Education d)Education | Education that
is exclusively for | that integrates | that ensures all | that focuses | ensures all
children with | students from | children, on gifted and children,
disabilities different regardless  of | talented regardless of
cultural their abilities | students their abilities
backgrounds or disabilities, or disabilities,
learn together learn together
in the same in the same
environment environment
53 | The difference between special education and inclusive education is a
a) Special | b) Special | ¢) Special | d) Special Special
education focuses | education is for | education is an | education and education
on separate | gifted children, | outdated term, | inclusive focuses on
classes for | while inclusive | and inclusive | education are separate
children with | education is for | education  is | synonymous. classes for
disabilities, while | children with | the modern children with
inclusive learning equivalent. disabilities,
education disabilities. while
integrates all inclusive
children in the education
same class. integrates all
children in the
same class.
54 | One of the major advantage of inclusive education for all children is: b
a) It ensures | b) It fosters a|c) It reduces | d) It | It fosters a
higher academic | sense of | the workload | simplifies the sense of
performance for | belonging and | of teachers. curriculum. belonging and
students without | reduces reduces
disabilities. discrimination. discrimination
55 | Match the term with its definition: a

A.Special education

i) Integrating all students in the
same classroom regardless of
their abilities




B.Integrated education

i) Education designed
specifically for students with
disabilities, often in separate
settings

iii) Combining some students
with disabilities into

C.Inclusive educat

ion

mainstream classrooms

iv) General education for
D.Mainstream education students without disabilities
a) A-ii b)A-i C)A-iii d)A-iv A-ii
B-iii B-iv B-iv B-ii B-iii
C-i C-ii C-i C-i C-i
D-iv D-iii D-ii D-iii D-iv
56 | Assertion (A): Special education provides individualized support a
tailored to the needs of students with disabilities.
Justification (B): Special education often involves separate classes or
schools where specialized instruction and resources are available.
Aistrue, Bistrue | b) Aistrue, Bis | ¢)Aistrue,Bis | d) A is false, | Aistrue, Bis
and B is the | truebutBisnot | false B is true true and B is
correct the correct the correct
explanation of A | explanation of explanation of
A A
57 | Assertion (A): The historical perspective of the industrialization d
period was characterized by inclusive education.
Justification (B): During the industrialization period, children with
diverse needs were often institutionalized and separated from
mainstream education.
a) A is true, B is | b)Aistrue, Bis | c)Aistrue,Bis | d) A is false, | Ais false, B is
true and B is the | true but B is not | false B is true true
correct the correct
explanation of A | explanation of
A
58 | The historical perspective focused on the institutionalization of c
children with diverse needs is:
a) Medieval | b)Enlightenme | c)Industrializat | d)  Modern | Industrializati
perspective nt perspective | ion perspective | perspective on perspective
59 c

Match the historical period with its approach to education for children

with diverse needs:

i)

Segregation

and

A.Medieval period

institutionalization

B.Enlightenment period

ii) Rise of specialized schools

C.Industrialization period

iii) Charity and benevolent
societies' efforts

D.Modern period

iv) Move towards inclusive
education
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a)A-ii b)A-i C)A-iii d)A-iv A-iii
B-i B-iv B-ii B-ii B-ii
C-iii C-ii C-i C-i C-i
D-iv D-iii D-iv D-iii D-iv
60 | Arrange the five functions of the management given by Henri Fayol (b)
in a sequential order.
A Organising- Planning- — Commanding — Coordinating- Controlling
B Planning- Organising — Commanding — Coordinating - Controlling
C Planning- Organising — Controlling Commanding — Coordinating
D Planning- Organising — Coordinating- Commanding — Controlling
a)A b) B c)C d)D Planning-
Organising —
Commanding
Coordinating -
Controlling
61 | Howthorne Experiments at Hawthorne plant of western electric (d)
company led to the development of management.
a) Scientific | b) Bureaucratic | c¢) d) Human | Human
Management Management Administrative | Relation Relation
theory theory Management Approach Approach
theory
62 | Directions: For the Assertion (A) and Reason (R) below, choose the (b)
correct alternative.
A Productivity of an Institution is due to dedication of the employee
working in that institution.
R: Only increase in salary motivates employees to be dedicated.
A) Both A and R are true and R is the correct explanation of A.
B) Both A and R are true but R is not the correct explanation of A.
C) Ais true but R is false.
D) A is false but R is true.
a)A b)B c)C d)D Both A and R
are true but R
is not the
correct
explanation of
A
63 | Laissez —faire approach of management focuses on: (d)
a) Framing rules | b)  Centrally | ¢) the main | d) Giving | Giving
for the employees | controlling the | focus is on | complete complete
employees increasing freedom to | freedom  to
productivity at | employee employee
any cost
64 | What is school complex? (d)
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a) Everything | b) Curriculum | ¢) A building | d) Group of | Group of
inside school | and  teaching | comprising of | Neighborhoo | Neighborhood
building staff classroom, d schools schools
laboratory and
teaching staff
65 | Which one is purely not associated with school timetable? (a)
a) Students | b) Co- | ¢) Class time | d) Master | Students
personal activity | Curricular table time table personal
time table activity  time activity time
table table
66 | Which statement is not correctly associated with School Inspection? (b)
a) Focuses on | b) Very | ¢) Inspection | d)  Usually | Very frequent
monitoring and | frequent in | is formal in | carried out by | in nature
evaluation of | nature nature external
performance member
67 | Institutional planning is most important for the development of any (d)
institution. An education institutional plan does not include
a) Providing | b) Organizing | ¢) Involving | d) Financing | Financing for
drinking facility, | seminars, teacher in in- | for  parents | parents health,
teaching aids, | remedial service health, religious
building repair teaching  for | training, social | religious preaching
slow learners | projects preaching
68 | A face to face, informal interaction is considered the best technique (a)
for collecting information about the client and his/her problem. How?
a) It helps to get | b) It is very | c) The |d) It s | It helps to get
first and | easy to | interview can | flexible and | first and
information organize  and | be video taped | makes  the | information
about client and | conduct an client feel | about  client
his/her problem | interview with comfortable. |and  his/her
the client problem
69 | What type of Guidance service is facilitated by the application of (b)
given battery of Standardized objective type tests, on normal
individuals?
a) Remedial and | b) Preventive | ¢) d)  General | Preventive
Preventive and Developmental | Guidance and | and
Developmental | and Remedial | Counselling | Developmenta
1
70 | What is the most essential requirement for providing Guidance (d)
Services in Schools?
a) Guidance and | b) Standardized | ¢) Time d) Professionally
Counselling tests for Professionall | qualified and
Rooms appraisal of y  qualified | adequately
students and trained
adequately personnel
trained
personnel
71 | What does Multiple Counselling mean? (©)
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a) Counselling by | b) Counselling | ¢) Counselling | d) Counselling
professionals and | given to two or | by Counselling | by
paraprofessionals | a few | professionals, | given to | professionals,
individuals, or | paraprofession | complex and | paraprofessio
a small | als and media | multiple nals and
homogeneous problems on | media
group the part of the
client.
72 | Psychotherapy emphasizes the following issues: (©)
a) The present | b) Thepastand | c) The past|d) The past| The past then
then the past present then present and future present
73 | Given below are the two statements; one labeled as Assertion (A) and
other labeled as Reason (R): b
Assertion (A): The Right to Education Act (2009) in India has
successfully ensured universal elementary education.
Reason (R): The Right to Education Act (2009) mandates free and
compulsory education for all children aged 6 to 14 years, aiming to
bridge gaps in access and quality education across socio-economic
backgrounds.
Choose the correct answer from the options given below:
a.Both (A) and | b. Both (A)and | c. (A) is true | d.(A) is false | b. Both (A)
(R) are true but | (R) are true and | but (R) is false. | but ( R ) is [ and (R) are
(R) is not the|(R) is the true true and (R) is
correct correct the correct
explanation  of | explanation of explanation of
(A) (A). (A).
74 | Match the List-I with List II:
List | List I1
A.Padhe Bharat Badhe Bharat 1.1992
B.Lok Jumbish 2.1987 a
C.The District Primary Education Programme | 3.2014
(DPEP)
D. Operation Blackboard (Obb) 4.1994
a)A-3,B-1,C- b)A-2,B-1,C- | c)A-3,B-2,C- | d)A-4,B-3,C- | a)A-3,B-1,C-
4,D-2 4,D-3 4,D-1 1,D-2 4,D-2
75 | |The statements not related to the objectives of Sarva Shiksha
Abhiyan are:
A. To provides free and compulsory education to all children aged 6-
14 years.
B. To bridge gender and social gaps in school enrolment and retention. | a
C. To restrict the provision of basic facilities in every school.
D. To minimize the community participation in the management of
schools.
Choose the correct answer from the option given below:
a)C and D only b)AandBonly | C) A,B,and C | d)A,B,C, and | a)C and D
only D only
76 | The main purpose of women’s education is :
b
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a) To confine | b) To enhance | ¢) To maintain | d) To hinder | To enhance
women to | women’s traditional women’s women’s
perform abilities for | gender roles. access to | abilities for
domestic roles. personal  and professional | personal and
societal development. | societal
advancement. advancement.
77 | The challenges related to girl’s education under the Sarva Shiksha
Abhiyan (SSA) program in India are: ¢
a) Gender-based | b) Availability | ¢c) Lack of | d) Lack of
discrimination to modern | separate toilets | Insufficient separate
and societal | teaching aids and sanitation | funding for | toilets and
norms. facilities  for | education sanitation
girls infrastructure | facilities for
girls
78 | The target group for the National Programme for Education of Girls d
at Elementary Level (NPEGEL) is irrelevant to:
a) Out of the|b) Drop outs|c) Working | d) Girls with | Girls with
school girls girls girls higher higher
achievement | achievement
79 | Which of the following is not considered a characteristic of weaker
sections in Indian society? ¢
a)Low income b)limited c)higher social | d) Lack of | higher social
access to | status political status
resources representatio
n
80 | The statements true to Kasturba Gandhi Valika Vidyalaya (KGBYV)
scheme are:
A. KGBYV is exclusively for North East region.
B. KGBV is dedicated to vocational training.
C. KGBV aimed at empowering women through education. b
D. KGBYV is focused on higher education opportunities.
Choose the correct answer from the options given below
a) Aand Donly | b)BandConly |c)B, D, and A | d) A,B,C, B and C only
only and D
81 | Given below are the two statements; one labeled as Assertion (A) and
other labeled as Reason ( R ):
Assertion (A): The National Programme for Education of Girls at
Elementary Level (NPEGEL) aimed to address gender disparities in
elementary education.
Reason (R): The National Programme for Education of Girls at b

Elementary Level (NPEGEL) focused on providing infrastructure,
resources, and support specifically tailored to enhance girl’s
enrollment, retention, and learning outcomes in primary and upper
primary schools.

Choose the correct answer from the options given below:

a. b. C. d.
Both (A) and ( R | Both (A) and ( | .(A) is true but | (A) is false

) are true but (R ) | R ) are true and | (R ) is false. but ( R ) is
is not the correct | ( R ) is the true
correct

b.

Both (A) and
(R) are true
and (R)is
the correct
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explanation  of | explanation of explanation of
(A) (A). (A).
82 | The statements not relevant to Kasturba Gandhi Balika
Vidyalaya(KGBV) are:
A. The KGBYV scheme was launched in the year 2004.
B.One of the criteria for eligible block for implementation of the
KGBV scheme is Educationally backward block with rural female
. b
literacy rate below 30%.
C.The KGBV was merged with the SSA programme as a separate
component since 2009.
D. The KGBYV is a state government scheme.
Choose the correct answer from the options given below
a)A and B only b)C and D only | ¢)A,C, and D | d)A,B,D, and C and D only
only D
83 | The groups considered as the weaker section in Indian society is Cc
a)Wealthy b)Middle-class | c)Marginalized | d) Marginalized
businessmen professionals communities Government | communities
officials
84 | The statement suitable to denote the meaning of the term ‘teaching’ b
is
a) Transmitt | b) Facilitating | ¢) Evaluating | d) Facilitating
ing  knowledge | learning student Administerin | learning
from teachers to | through performance g disciplinary | through
students various through actions in the | various
instructional assessments classroom instructional
strategies strategies
85 | The principle of teaching that advocate for creating a supportive and
inclusive learning environment where students feel valued and d
respected is:
a)Principle of | b)Principle of | ¢) Principle of | d)Principle of | d)Principle of
assessment differentiation | classroom equity  and | equity and
management diversity diversity
86 | The statement is incorrect for micro teaching is: Answer
a)Micro teaching | b)Teaching a | c)Teaching d) Micro | ¢)Teaching
provides small group of | complex teaching is a | complex
opportunities for | students in a | subjects in a | technique in | subjectsin a
practicing controlled condensed which teacher | condensed
teaching  under | environment timeframe trainee is | timeframe
controlled trained  for
conditions learning
teaching
skills.
87 | The statements represent the evaluative functions of teaching are: c
A. To criticize | B. To assess | C.To measure | D.To create | To measure
and demotivate | teacher student competition | student
students performance learning among learning
outcomes and | students outcomes and
improve improve
teaching teaching
effectiveness effectiveness
88 | The main objective of diagnostic functions in teaching is: b
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A.To assign grade | B.To identify | C.To promote | D.To To identify
to students areas of student | teacher compare areas of
difficulty authority in the | students’ student
classroom performance | difficulty
with each
other
89 | The primary objective of prescriptive functions in teaching is: Cc
A.To enforce | B.To evaluate | C.To provide | D.To increase | To provide
strict rules in the | teacher recommendati | competition | recommendati
classroom performance on and | among on and
interventions students interventions
to address to address
student student
learning gaps learning gaps
90 | Which of the statements is not true for the Maxims of teaching?
A. From known to unknown is a maxim of teaching.
B. Maxims of teaching are rigid rules that must be followed without
deviation in every educational setting.
C. Maxims of teaching are only applicable to certain subjects.
D. Experience of a teacher plays a very important role in properly b
utilizing the maxims of teaching.
Choose the correct answer from the options given below
a)A and D only b)B and C only | ¢)A,C, and D | d)A,B,C, and B and C only
only D
91 | Given below are the two statements; one labeled as Assertion (A) and
other labeled as Reason (R):
Assertion (A): Providing students with hands-on learning experiences
enhances their understanding of complex concepts.
Reason (R): Hands-on activities allow students to engage directly b
with the material, stimulating multiple senses and facilitative deeper
comprehension.
Choose the correct answer from the options given below:
a) .Both (A)and ( | b). Both (A)|c).(A ) is true | d).(A) is false | Both (A) and
R )aretruebut (|and ( R ) are [but ( R ) is|but ( R ) is | (R) are true
R ) is not the | trueand (R)is | false. true and (R)is
correct the correct the correct
explanation  of | explanation of explanation of
(A) (A). (A).
92 | Sampling is the most important aspect of research design. There is (b)
one research design where sampling is not important. What is that?
a) Comparative | b) Case Study | ¢) d)
analysis experimental Correlational Case Study
Research research
93 | What are the necessary steps/ services required to conduct a school d)
guidance programme?
a) Information , | b) testing, | c)  personal, | d) Information ,
testing, guidance, professional, Information, | testing,
counselling ,placement placement, testing, counselling,
,placement ,JInformation follow-up counselling, | follow-up
follow-up
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94

What is the full form of PERT?

(b)
a) Project | b) Programme | c) Project | d)
Evaluation and | Evaluation and | Examination Programme Prograrnme
review Technique | review and renew | Examination Evaluat.mn
! . . and review
Technique Technique and review .
. Technique
Technique
95 | Match the following theories of management and their proponents.
A Scientific Management Theory 1 Weber
B Administrative Theory of Management | ii Taylor (c)
C Bureaucratic Theory of Management i11 Fayol
D Management by Objective iv Peter Drucker
a) A-iii,B-iv, C-i, | b) A-iv, B-i, C- | ¢)A-ii,B-iii, C- | d) A-iv,B-ii, | A-ii, B-iii, C-
D-ii ii, D-iii i, D-iv C-i, D-ii i, D--iv
96 | The primary objectives of the District Primary Education Programme | d)
(DPEP) is :
a) Fostering b)Promoting c)Enhancing d) Improving | Improving
vocational gender science  and | primary primary
training segregated mathematics education education
initiatives at | education  at | education at | quality and | quality  and
primary level primary level | primary level | access access
97 | Assertion (A): Inclusive education benefits only students with d
disabilities.
Justification (B): Inclusive education fosters a culture of diversity
and respect, benefiting all students by promoting empathy and mutual
respect.
a) A is true, B is | b)Aistrue, Bis | c)Aistrue,Bis | d) A is false, | Ais false, B is
true and B is the | true but B is not | false B is true true
correct the correct
explanation of A | explanation of
A
98 | Mention the type of motivation which drives a student to work hard (b)
to achieve first rank in his class is:
a)Intrinsic b)Extrinsic c)Zero d) None of Extrinsic
motivation motivation motivation theabove motivation
99 | Indian society is in nature. b
a) tribal b) pluralistic c) rural d) urban pluralistic
10 | The common challenge faced by weaker sections in accessing c
0 | education is:
a)Abundant b)Affordable c)Limited d)Equal Limited
educational tuition fees availability of | opportunities | availability of
resources schools for schools
scholarships
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